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Aesvu 390 1 9. 3 e
Yrpw AL 4,742 6,539 8,394 10,308
A $1ERE 4,742 (A1) 4,742 4,742 4,742
" $2ERY 1,797 (A2) 1,797 1,797
$3ERY 1,855 (A3) 1,855
$4ER T 1,914 (A4)
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A1 100,000%3.00% + (97,000*1.05)*1.71%
=3,000 + 1,742 = 4,742
A2 (97,000*1.05) - 1,742)*1.05*1.71%
=100,108*1.05*1.71% = 1,797
A3 (100,108*1.05) - 1,797)*1.05*1.71%
=103,316*1.05*1.71% = 1,855
A4 (103,316*1.05) - 1,855)*1.05*1.71%
=106,627*1.05*1.71% = 1,914
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AP E AFEE 6,090 8,084 10,097 10,912
$1ERE ™ 6,090 (F1) 2,940 2,940 2,940
f; $oER G 5,144 (F2) 3,001 3,001
- FEYE 4,156 (F3) 3,062
$4ER G 1,909 (F4)
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F1 (100,000%1.05)*2.80%+(100,000%1.05)*3.00%(CDSC)
= 2,940 + 3,150 = 6,090
F2 ((100,000*1.05)-2,940)*1.05*2.80% +((100,000*1.05) - 2,940)*1.05*2.00%(CDSC) = 102,060*1.05*2.80%+102,060*1.05*2.00%
=3,001 + 2,143 =5,144
F3 ((102,060*1.05)-3,001)*1.05*2.80% +((102,060*1.05) - 3,001)*1.05*1.00%(CDSC) = 104,162*1.05*2.80%+104,162*1.05*1.00%
= 3,062 + 1,094 = 4,156
F4 ((104,162*1.05)-3,062)*1.05*1.71% = 106,308*1.05*1.71%

=1,909
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